stryker

Addison FD LP15 x4

Quote Number: 10277956 Remit to: Stryker Medical

P.O. Box 93308

Chicago, IL 60673-3308 Version: Prepared For: ADDISON FIRE STATION 1 Rep:

Gary Montana Attn: Email: gary.montana@stryker.com

> (817) 846-0415 Phone Number:

Quote Date: 10/30/2020 Expiration Date: 12/31/2020

| Delivery Address | | End User - Shipping - Billing | | Bill To Account | | |
|------------------|------------------------|-------------------------------|------------------------|-----------------|------------------|--|
| Name: | ADDISON FIRE STATION 1 | Name: | ADDISON FIRE STATION 1 | Name: | TOWN OF ADDISON | |
| Account #: | 1097168 | Account #: | 1097168 | Account #: | 1077721 | |
| Address: | 4798 AIRPORT PKWY | Address: | 4798 AIRPORT PKWY | Address: | PO BOX 9010 | |
| | ADDISON | | ADDISON | | ADDISON | |
| | Texas 75001-3364 | | Texas 75001-3364 | | Texas 75001-9010 | |

Equipment Products:

| # | Product | Description | Qty | Sell Price | Total |
|------|--------------|--|-----|-------------|-------------|
| 1.0 | 99577-001588 | LIFEPAK 15 V4 Monitor/Defib - Manual & AED, Trending, Noninvasive Pacing, SpO2, SpCO, SpMet, NIBP, 12-Lead ECG, EtCO2, BT. Incl at N/C: 2 pr QC Electrodes (11996-000091) & 1 Test Load (21330-001365) per device, 1 Svc Manual CD(26500-003612) per order | 2 | \$35,126.25 | \$70,252.50 |
| 2.0 | 41577-000288 | Ship Kit -QUIK-COMBO Therapy Cable; 2 rolls100mm Paper; RC-4, Patient Cable, 4ft.; NIBP Hose, Coiled; NIBP Cuff, Reusable, adult; 12-Lead ECG Cable, 4-Wire Limb Leads, 5ft; 12-Lead ECG Cable, 6-Wire Precordial attachment | 2 | \$0.00 | \$0.00 |
| 3.0 | 21330-001176 | LP 15 Lithium-ion Battery 5.7 amp hrs | 8 | \$429.78 | \$3,438.24 |
| 4.0 | 11171-000049 | Masimo [™] Rainbow [™] DCI Adult Reusable Sp02, SpC0, SpMet Sensor, 3 FT. For use with RC Patient Cable. | 2 | \$556.80 | \$1,113.60 |
| 5.0 | 11171-000050 | Masimo [™] Rainbow [™] DCIP Pediatric Reusable Sp02, SpC0, SpMet Sensor, 3 FT. For use with RC Patient Cable. | 2 | \$613.35 | \$1,226.70 |
| 6.0 | 11171-000082 | Masimo™;RC Patient Cable - EMS, 4 FT. | 2 | \$217.50 | \$435.00 |
| 7.0 | 11160-000011 | NIBP Cuff-Reusable, Infant | 2 | \$20.01 | \$40.02 |
| 8.0 | 11160-000013 | NIBP Cuff-Reusable, Child | 2 | \$22.62 | \$45.24 |
| 9.0 | 11160-000017 | NIBP Cuff -Reusable, Large Adult | 2 | \$31.32 | \$62.64 |
| 10.0 | 21300-008159 | LIFEPAK 15 NIBP Straight Hose, 6' | 2 | \$63.51 | \$127.02 |
| 11.0 | 11577-000002 | LIFEPAK 15 Basic carry case w/right & left pouches; shoulder strap (11577-000001) included at no additional charge when case ordered with a LIFEPAK 15 device | 2 | \$293.19 | \$586.38 |
| 12.0 | 11220-000028 | LIFEPAK 15 Carry case top pouch | 2 | \$53.07 | \$106.14 |
| 13.0 | 11260-000039 | LIFEPAK 15 Carry case back pouch | 2 | \$75.69 | \$151.38 |

stryker

Addison FD LP15 x4

Quote Number: 10277956 Remit to: Stryker Medical

P.O. Box 93308

Version:

Chicago, IL 60673-3308

Prepared For: ADDISON FIRE STATION 1 Rep: Gary Montana

> Attn: Email: gary.montana@stryker.com

> > (817) 846-0415 Phone Number:

Quote Date: 10/30/2020 Expiration Date: 12/31/2020

| # | Product | Description | Qty | Sell Price | Total |
|------|----------------|---|------------------|-------------|--------------|
| 14.0 | 11996-000471 | 4G Modem: Verizon Cellular (for use on Stryker data plan; purchased separately) | 2 | \$1,048.35 | \$2,096.70 |
| 17.0 | TR-15V1V2-LP15 | TRADE-IN-STRYKER LP15V1/V2 TOWARDS PURCHASE OF LIFEPAK 15 | 2 | -\$5,000.00 | -\$10,000.00 |
| | | | Equipment Total: | | \$69,681.56 |

ProCare Products:

| # | Product | Description | Qty | Sell Price | Total |
|------|--------------|---|--------|------------|-------------|
| 15.0 | 78000168 | KORE - Stryker data plan for modem (Verizon) | 2 | \$284.05 | \$568.10 |
| 16.0 | 11600-000030 | CODE-STAT 11 Data Review Seat License | 2 | \$2,760.00 | \$5,520.00 |
| 18.1 | 78000008 | On Site Prevent for LIFEPAK 15 V4 Monitor/Defib - Manual & AED, Trending, Noninvasive Pacing, SpO2, SpCO, SpMet, NIBP, 12-Lead ECG, EtCO2, BT. Incl at N/C: 2 pr QC Electrodes (11996-000091) & 1 Test Load (21330-001365) per device, 1 Svc Manual CD(26500-003612) per order | 2 | \$6,264.00 | \$12,528.00 |
| | | | ProCar | e Total: | \$18,616,10 |

Price Totals:

Grand Total: \$88,297.66

Prices: In effect for 60 days.

Terms: Net 30 Days

Ask your Stryker Sales Rep about our flexible financing options.

stryker

Addison FD LP15 x4

Quote Number: 10277956

Version:

Prepared For: ADDISON FIRE STATION 1

Attn:

(817) 846-0415 Phone Number:

Stryker Medical P.O. Box 93308

Gary Montana

Chicago, IL 60673-3308

gary.montana@stryker.com

Remit to:

Rep:

Email:

Quote Date: 10/30/2020 Expiration Date: 12/31/2020

AUTHORIZED CUSTOMER SIGNATURE

Deal Consummation: This is a quote and not a commitment. This quote is subject to final credit, pricing, and documentation approval. Legal documentation must be signed before your equipment can be delivered. Documentation will be provided upon completion of our review process and your selection of a payment schedule.

Confidentiality Notice: Recipient will not disclose to any third party the terms of this quote or any other information, including any pricing or discounts, offered to be provided by Stryker to Recipient in connection with this quote, without Stryker's prior written approval, except as may be requested by law or by lawful order of any applicable government agency.

Terms: Net 30 days. FOB origin. A copy of Stryker Medical's standard terms and conditions can be obtained by calling Stryker Medical's Customer Service at 1-800-Stryker.

In the event of any conflict between Stryker Medical's Standard Terms and Conditions and any other terms and conditions, as may be included in any purchase order or purchase contract, Stryker's terms and conditions shall govern.

Cancellation and Return Policy: In the event of damaged or defective shipments, please notify Stryker within 30 days and we will remedy the situation. Cancellation of orders must be received 30 days prior to the agreed upon delivery date. If the order is cancelled within the 30 day window, a fee of 25% of the total purchase order price and return shipping charges will apply.